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W7 [FHN| B | BRE | Fd | B (EBZ2E] iI% | bR | BR 3
1528 =5%F 10 10 10 9 10 10 59
2| FH fRF 9 10 7 4 9 8 47
G ES 9 9 9 7 6 5 45
4| RE FEHR 8 6 9 4 27
4|TER £ 8 10 9 27
6|8 K BRF 6 4 3 5 8 26
7|HD = 5 3 7 6 21
8|AJIl H=E 3 4 5 6 18
8|/EEF #&EF 9 2 7 18
10(# M= 7 9 16
11{d ZF 2 5 8 15
1M\& FTEX 9 4 2 15
13|FHE K3*E 5 5 2 12
141RE thEF 4 6 10
15[l EF 2 1 6 9
16|58 JAhH 8 8
IHEES 7 1 8
18| &FF FHx 7 7
19(BTER  ERtk 6 6
N EEEES 5 5
21|11l BE 4 4
22|FEH EfLF 3 3
28K [&F 3 3
24| FE EF 2 2
24|58 EHE 2 2
24|85 K HE 2 2
241818 %LF 2 2
28|/hNR HEF 1 1
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